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The produce of this project
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‘w The Review of last project
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. 2. Design valuables
1. Objective function J
0<m, (=< FA)<1.5kg
Sa2sge A52E8ACs B 0 < O(ZAFZE ) < 90"
SXSIA ©OC
/T 0T TT 4. .
3. Constraints
m. +m m. +m Y 1
S oln— "o MR o1 Mo " Me ¢ : . m,V, sind
Max _[ V, cos nm0+mR_mft +V, cosfIn . 5 VRZ :(VR Sln9)= file > g

m, + Mg




: The improved design of this project

e Fel 2 A8 229 &4
i B2 WA f*;f/ﬁ"]-f’nwer.'riiaf} & A g
/" modeling o F= kEAx CH2 AI-BHOI At 22
| e [ 22 | 4 - 1L
= SELPE A
0.221
f =0.0032+ 55
Hol== & L
- A Ne = 2D
F=PA o H
2. SR 24l
y
m X v:
Ax hy = Ky 24
Assumption: {2l NIt HHlet =oHE di= zg29? K, =0.05
== AUUKX CH SIHHELZ 0| &
SE0[2k) O &t 3. A &H:
PA < kKAX
g AP = y(h,, +h)

Another Constraint : PA—30<0
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2) SE2T Wa o oS I O RESE
(3) FUINs U2t Ta A5 LA 10 O Fgts gd
3. 1202 =SS AISste HIHeIE B4 Al 5 S 0o g SHRISAlL ALY HE
. 31 A O] HOCooogaog
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Summary 22228835555555583
. COoOOQOQOQ [ = = = = = e e i o Y = ]
Design valualbes : mO, D2,(9
t, m. +m m. +m
. . R R
Objective function : Sy, = j V, cos @In 2 dt + V, cos @In 2 t,
’ .
m, +m, —m.t m,
m,V, sind
Constraints : 9, =~ +9.806 <0 D 798 ST E Z20IAT B0 HOEICH
m, + My
9, =PA -30<0 > TS 0 M2 =52 XIS
g9, =-D, <0 >0<:-Z=9 XNE < 0.02m

g,=D, -0.02<0
g;=—m, < 0 =2 xJ|=2 &2 02 L HOFstLt.



The Optimum design valuables

= St “E{tH 1TLAl & Xt
-Excel2 0|28 SEY 1XH4! 32|
Values B
2 5}Al
mr D1 Al 22 Ve M 11 H 51 71 V0 12 =2 =S
0.1 009 000636 B857E-05 24708339 209214 024518 015852 219263 289323 3405928 703055 176319 ( . ) 4
Ve |2P-AP)D,
ey 4 4
Pressure decre Initial values ,()(D1 — D2 )
Ne £~ Hl hk delts p D2 P md thets 5
EE:ﬁ:- CESSET S E0ITs IS rsEsE SAAFDETL 0.01 350000 0.5095 05824 173875
(L3 {rm) {Pa) {kg) {rad) {m}
Constraints Results
gl g2 g3 % g5 D2 F m{ thets 5
26E-07| 2.36-13| -D0104| -0.009553| -0.5129596 001045 350000 051296 096832 1785117
11
105 ——
o
— WEaLFE
HE & o I oA
§HS13 0.01 001 00104468 001045 001045 0010447 . — Ho 5|He
$KS13 059224 09824 009824014 057882 096833 0968318 29 1 =E T8
$J513 05055 0509501 05094971 051736 051297 051296 — &7 Eo| ¥
=i 0as
§L513 173875 1738749 17552271 178448 178512 1785117
scaling | 102275 1022754 10324865 104969 105007 1050069 e
D 0.9 09| 09402085 094021 094021 094020 - ! : : : : AU N
T 096805 0968051| 0.9680444 098298 097464 0974623

Optimum Points

D2 (=Z°| XIZ):0.01045m
mo (ZJ] 22 2):0.51296

0 (2 AH2):0.96832rad (55.48%)

Maximum value
S(ZITHHI 4 2l)=178.5117m

Condition of Solver
AT :0.000001
: 0.000001
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= St Do = = %
- Excel= 0| S8t SHB ALY 1XHA! ol 2|
Values
mr Cl Al Al e Mf t1 H =1 i | v t2 =2
0.1 D09 D.0D636 257TE-0O5 24408335 205214 024518 0015852 215363 285323 34058528 703085 1T7E=S1S
Fressure decreaae Intial valuss
Me f hl hk delta p C2 =] il thets =
253719 00435761 3.80139 1512884 52170571 ouDa 350000 05095 05224 173 875
=g {m]} {Pal) {Kg} {rad] {m]}
Constraints Results
gl g2 g3 g4 g5 02 B mi theta ]
2. TE-OT | 2.309E-13 —C'.:'1:4r—:'.3':'5553 051295596 001045 350000 051296 096832 17TARI1T7
E5 4805
11
105 —
1
_— T AR
HE A 0.95 — =
SHS13 001 001 00104468 001045 001045 0010447 / -
SK513 o5824 059824 (059824014 057882 056833 059568318 o4 2
51513 {5055 [ OL509501 05094971 051736 051297 051296 EINE
S - 035
S5LS13 173875 173 8745 17552271 178448 178512 1785117 .
scaling D2 0.9 D9 059402085 | 09402 05302 0 93020 o . . : B = AFY
f 102279 1022794 10324865 104989 105007 1.050069
md 96805 0568051 09680444 0982598 057464 (09748623

Optimum Points

D2 (=29 XIE):0.01045m

mo (=] 29 &):0.51296

0 (A2 :0.96832rad (55.48 %)

Maximum value

S(ZIHHI A 2l)= 178.5117m

Condition of Solver

&2 % :0.000001
=38 % :0.000001




Solver

M The Optimum design valuables

— - MATLAB fmincons

Global

) Constraints 1, 2 is Active.

lower upper ineglin ineq:u:unli Optimum solution!! mfve sin @
g =- +9.806 < 0
2 - 1 A
')
- hessian = < g, =PA -30<0
detH =2.459x107*
0.0104 0.5296 0. 9666 1. De+003 + > (2) Optimum Points
D2 (=Z2| XIE):0.0104m
ol 8.0508  0.0868 -0.191% mo (=J| =2| &) : 0.5296
00888 0.0135 01153 6 (2 AH2):0.9666rad (55.48%)
pUOEsLIL -0.1919  0.11583  1.0823 > (3) Maximum value

S(ZICHHI 2 2l)= 179.7571m

eritflag =

o wEs enAE

| ---

output = E‘I = 0.01045 0.51296 55.48 178.5117
terat inns:@/ Z 92 ) 0.01045 0.51296 55.48 178.5117
funcCount : 33 SOQP 0.0104 0.5296 55.38 179.757

stepsize: |
algorithm: "medium—scale:(SUP, Uuasi-Mewton, line-search)
firstorderopt: 2.1831e-006

caiterations: []



Compare to the last design

1) Last design value

MR 2230 2 Fo| 20| DI} LA A =
131 1 |M 0.6 /0.500453
2 |TH 0.9( 0.982495
1.2 Feasible Region 3 f 190.8456 2[}9.316?
ol 4 |g1 21E-08
5
R 6 |2t 56.2928
Ar 190 7 22| 9  (.509453
< 09} 2
ol 230
§ 08. 210 2) Improved design )éalue
£ —
Initial values \/ gh=3 = 531!
0.7 - Copstraint line
D2 B ma theta g
0.6 0.01 350000 05095 09824 173.875
(rn) (Pa) (Kg) (rad) (m)
0'%.3 014 015 0.‘6 017 0.‘8 o.‘9 4 111 112
mo(22] 2 )
= Results
>> A1)}
. S D2 P ma theta g
1) XL AN Z2UE )| UCZ EEol0] S =242
ol2 A 0|oi[} 0.010447 350000 0.51296 0968318 |178.5117
= T AAAA .
2) XIck AHO HIaH =2 2 CHHIHR2IDF €5 S AXIOH =
Ol =SUHAS =40 28 HEF0|CH.



Compare to the last design & conclusion

1. Hluw &4
The last design
1) H=2 D= 20H
2) = CH 8l H2l : 209.31m
3) B B gt
mO (22| &) =0.5094kg
0 (ZA2) = 56.29%

The improved design
1) H=2 = 3H
2) = CH Bl AH2| : 178.51m
3) M BH= gt
mo (22| &) =0.5129kg

0 (ZAr2) = 55.48%
D2 (== Xl &)=10.44mm
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A =82 AES S10mm= 2 HstHLH
Ticlet JItH &L C

3. = HEQ| o9

1. AIS0ll Z0HE = 23U X

J_CII-
O UCH Hl# XA =2 38H

==l ) QLI
2. =2 S NEHCZ OIS A, 21 42 /st 28 £A
= MIAISHCE.
3. 2 HIAH2IS A= LI foH Try and ErrorE 2iotH,
=32 o2 /-0l <20
4. 22
-0l E2HE ¥, =& =2 M 20| nonlinear0| 12,
H==DF 300 Ol &H01 &S, =180l == oIt O 2125t
H BHSGHUCE 0l= 22 Local optimum sloutionO| & M
otJ| = 0ILCt.



